(p+bar{p))/(K™ + K)

Ratio to LHCB

=
o

=
N

=
N

0.8

0.6

0.4

0.5

7000 GeV pp Soft QCD
N L L B B A B O L L B By
| E+P)(K+K) vs Iyl (p_ > 1.2 GeV) |
: m LHCB :
~ —&— Pythia 8.308 default 7
| —a— Pythia 8.308 default-noFsr ]
- —— Pythia 8.308 default-noRap -
S j//j :

n
| [ | _|
:| T HEN NP TR AU R TN SENPU RA ANNUT N TN AU R AU NN SRR SR T |:
L
- - ,;Lét\}* -
N PR ]

P TP T SR S P TP T SR S P TP T SR S P TP T SR S |
2.5 3 3.5 4 4.5

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


